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Unit One

Part I Listening Comprehension (20 minutes)
Section A Conversation _
1. A) Two hours. C) Six hours.
B) Four hours. D) Eight hours.
2. /{) In a bakery. C) In France.
B) In a taxi. D) In a post office.
3. A) Clean out the refrigerator. C) Pack the clothes.
B) Telephone for a taxi. D) Lock the suitcases.

4. A) Richard is hard to find.
B) Richard speaks with difficulty.
C) Richard’s roommate doesn’t talk to him.
D) Richard doesnt work very hard.

. A) Borrowing money for a business company.

(92

B) Lending some money to a student.
C) Asking for some financial aid.
D)) Reading a student’s application.
6. A) $35. B) $65. C) $20. D) $55.
7. A) It’s better for the woman to apply herself than ask George.
B) George knows the procedures better than she does.
C) 1t’s no use asking George as he doesn’t know what to do.
D) With luck . George might know how to apply.
8. A) It’s more direct. C) It’s faster.
B) There is a traffic jam. D) Tt’s less expensive.
9. A) They might help reading comprehension;
B) They might save time in reading.
C) They might help complete all kinds of assignments.
D) They have several bright sides.

10.°A) The clothes are still at the laundry.



BB) John forgot to bring the clothes to the laundry.
C) John’s brother has brought the clothes back home.
1)) John's brother lost the clothes on the way back.
Section B
Passage One
11. A) To pay his train fare for him.
B) To tell him some funny stories.
C) To look for his lost wallet.
D) To give a public speech.
12. A He bought a train ticket for him.
B) He found his wallet.
() He comforted his friend and sent him home.
D) He gave him his own ticket.
13. A) Because there was no seat for him.
I3) Because he didn't have a ticket.
C) Because he enjoyed lying on the floor under the seat.
12) Because he thought he didn’ have a ticket.
Passage Two
14. A) To test an animal’s eyesight.
B) To test an animal’s intelligence.
() To test an animal’s learning ability,
D) To test an animal's memory.
15. A) They are smarter than chimpanzees.
B) They are slower-moving than chimpanzees.
C) They have better memories than chimpanzess.
D) They solve the maze better than chimpanzees.
16. A) It is equal in intelligence to a chimpanzee.
B) It is more intelligent than an elephant. ‘
C) Tt is less intelligent than an elephant.
D) It is between a chimpanzees and an elephant in intelligence.

17. A) There are several ways of measuring the intelligence of animals.

2



1Y Chimps and elephants have the best memory.
) The chimp’s brain is four times as large as the elephant’s. in proportion
to its body size,
D) An animal’ intelligence depends on the propotion of brain to body.
Passage Three
18. A) There were [orty-nine miners altogether.
13) They were miners in 1849.
C) They were forty-nine years old.
2} They had forty-nine alternatives to eating meals out.
19. A) Most men who lived in roormny houses.
B3) Forty-niners who lived in tents.
() Forty-niners who had already made their fortunes.
D) A few men who lived in hotels.
20. A) San Francisco restaurants got national praise.
B) San Francisco restaurants were as good as those in New York.
() New York restaurants were receiving national praise.

D) New York restaurants served food of everv nationality.

Part 1 Reading Comprehension (30 minutes)
Questions 21 to 25 are based on the following passage:

Britain will fail to meet targets set by the European Economic Community
(EEC) for reducing air pollution unless the government fits more antipollution
equipment 10 power stations and takes energy conservation more seriously.
This warning comes in a report commissioned (% 4%.) by Greenpeace, the envi-
ronmental pressure group.

The authors from the Earth Resources Research, calculate that by 1993,
levels of selphur dioxide ¢ =% {L#) pollution from power stations in Britain
will match those of 1970, But they expect overall emissions of sulphur dioxide
to fall by 10 per cent hy 1993, The government predicts a fall of 22 per cent.

In accordance with EEC regulations. Britain should reduce by 1993 its e-
missions of sulphur dioxide and nitrogen (&) oxides by 20 per cent, using the

—_— 3 —



level of air pollution in 1980 as a baseline.

The report challenges three elements of the government’s strategy (& #% )
for meeting the regulations. The government expects organizations such as the
Central Electricity Generation Board to equip new coal-fired stations with gas
scrubbers (G BE B U3 1) and to fit existing stations with equipment for filter-
ing out sulphur dioxide. Power stations account for nearly 90 per cent of the
sulphur dioxide that Britain discharges into the air.

The government also assumes that the oil industry will contract. This
should affect the levels of sulpur dioxide pumped out by refineries (¥l ).
Thirdly. the Department of the Environment expects the level of industrial air
pollution to fall as factories close or improve their technolégy to tighten control
On emisslons,

The authors of the report argue that emissions from refinéries will nor fall
as much as the government expects because the oil industry itself will not fall
of{ as rapidly as once expecred. Also, thev doubt whether air polution pro-
duced by industry will fall as quickly as the government assumes.

21. How can Britain reduce air pollution according 10 the passage?

A) To close some power stations.

B) To build more nuclear power stations.

() To install more antipollution devices at power stations.

) To let the public be aware of the seriousness of air pollution,

[
[SV]

. Whar predictions do the authors from the Earth Resources Research make
about the levels of sulphur dioxide?
A) The overall emissions of sulphur dioxide will fall 22 per cent by 1993.
B) Emissions of sulphur dioxide from power stations will be as plentiful as
those of 1970 by 1943,
C) Levels of sulphur dioxide pollution will he higher than those of 1970 by
1993.
D) Levels of sulphur dioxide pollution will be lower than those of 1970 by
1993.
23. In order to meet EEC regulations, the British government has proposed
three measures, the first of which is about reducing air pollution from

4 -



A) Power plants C) various factories

B) oil industry 1)) the whole industry

24. In the second sentence of the fifth paragraph. the word *This” refers to

A) The decrease of the oil industry

B) the increase of the oil industry

C) the government’s assumption

D) the level of sulphur dioxide.

25. The Department of the Environment expects the level of industrial air pol-

lution to fall because .

A) more modern factories will replace old ones

B) new kinds of power stations will beconstructed

C) new technology will be brought to control emissions

D) no emissions will be allowed according to EEC regulations
Questions 26 to 30 are based on the following passage:

The field of medicine has always attracted its share of quacks (FEFE) and
charlatans GL#AEEA) —that is, disreputable (47 7~ {£#)) women and men
with little or no medical knowledge who promise quick cures at cheap prices.
The reasons why quackery thrives even in modern times are not hard to find.

To begin with,pain seems to be a chronic (£ 85 ) human condition. A
person whose body or mind “hurts” will often pay any amount of money for
the promise of relief. Second, even the best medical treatment can not cure all
the ills that beset (B 3#]) men and women. People who mistrust or dislike the
truths that their physicians tell them often turn to more sympathetic ears.

Many people lack the training necessary to evaluate medical claims. Given
the choice between (a) a reputable physician who says a cure for cancer will be
long, difficult, expensive. and may not work ar all. and (b) a salesperson who
says that five bottles of a secret formula “snake oil” will cure not only cancer.
but tubeculosis. and bad breath as well. some individuals will opt for the bortie
of snake oil.

Many “snake oil” remedies are highly laced with alcohol or narcotic

=4
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drugs. Anyone who drinks them may get so drunk that they drown their pains

in the rising tide of pleasant intoxication. Little wonder that “snake oil” is a

popular cure-all for minor aches and hurts! But let there be no misunderstan-

dings. A very few “home remedies™ actually work. However. most remedies

sold

by quacks are not only useless, but often can be harmful to the user as

well.

26.

27.

28.

29.

30.

All of the following are reasons why quacks continue to do business EX-

CEPT that

A people are often willing to pay any amount of money for the promise of
relief

B) many people are not in a position to evaluate medical claims and diag-
noses

C) many “snake oil” remedies will not do harm to the patient. even if
they do not actually work

D) quacks. apparently sympathetic, can easily coax patients into believing

that they can help them recover

According to the passage, the author would probably agree that

A) sometimes people do get some help from charlatans
B) doctors should not lie to their patients
C) quacks and charlatans are motivated by the desire to help mankind

D) only poorly educated people seek quacks’ advice

The phrase “opt for” (paragraph 3) can best be replaced by
A) “choose” C) “pick up”
B) “decide on” D) “accept”

According to the author, which of the following is true?

A) Most home remedies are effective.

B) “Snake 0il” remedies are a popular cure-all for minor aches and pains.

C) *Snake oil” remedies can help a patient psychologically » but not physi-
cally.

D3} “~nke oil” remedies are alcohol or narcotic drugs pure and simple;

We can conclude from the passage that .

-



A) quacks’ medical claims are false and misleading

B) all people mistrust or dislike the facts their doctors tell them

C) charlatans enjoy a good reputation

D) everyone must take the training necessary to make judgement of medi-

cal claims
Questions 31 to 35 are based on the following passage:

The promise of finding long-term technological solutions to the problem of
world food shortages seems difficult to fulfill. Many innovations that were once
heavily supported and publicized, such as fish-protein concentrates, have since
fallen by the wayside. The proposals themselves were technically feasible, but
they proved to be economically unviable (A8 {7#) and to vield food products
culturally unacceptable to their consumers.

One characteristic common to unsuccessful food innovations has been
that, even with extensive government support. they often have not been tech-
nologically adapted or culturally acceptable to the people for whom they had
been developed. A successful new technology. therefore, must fit the entire
soctocultural system in which it is to find a place. Security of crop yield» prac-
ticality of storage, and costs are much more significant than had previously
been realized by the advocates of new technologies.

The zdoption of new food technologies depends on more than these techni-
cal and cultural considerations ; economic factors and governmental policies also
strongly influence the ultimate success of any innovation. Economists in the
Anglo- American tradition have taken the lead in investigating the economics of
technological innovation. Although they exaggerate in claiming that profitabili-
ty 15 the key factor guiding technical change -they completely disregard the
substantial effects of culture—they are correct in stressing the importance of
profits. Most technological innovations in agriculture can be fully used only by
large tandowners and are only adopted if these profitoriented business people
believe that the innovation will increase their incomes. Thus. innovations that
carry high rewards for big agribusiness groups will be adopted even if they
harm segments of the population and reduce the availability of food in a coun-
try. Further, should a new technology promise to alter substantially the profits

7 .



and losses associated with any production system. those with economic power

will strive to maintain and improve their own positions. Therefore, although

technical advances in food production and processing will perhaps be needed to

ensure food availability . meeting food nceds will depend much more on equaliz-

ing economic power among the various segments of the populations within the

developing countries themselves.

31.

The passage mentions all of the following as {actors important to the suc-

cess of a new food crop EXCEPT the

A) practicality of storage of the crop

B) security of the crop yield

C) quality of the crop’s protein

D) cultural acceptability of the crop

The author suggests that, in most developing countries, extensive govern-

ment intervention accompanying the introduction of a food innovation will

A) usually be sufficient to guarantee the financial success of the innovation

B) be necessary to ensure that the benefits of the innovation will be spread
throughout the society

(') normally occur only when the innovation favors large landowners

[2) generally cost the country more than will be earned by the innovation

The first paragraph of the passage best supports which of the following

statements?

A) Too much publicity can harm the chances for the success of 4 new food
mnovanon.

B) Innovations that produce culturally acceptable crops will generally be
successful.

C) A food-product innovation can he technically feasible and still not be e-
conomically viahle.

1) It is difficult to decide whether a food-product innovation has actually
been a success,

The author provides a sustained argument to support which of the follow-

ing assertions?

8



A) Profitability is neither necessary nor sufficient for a new technology to
be adopted.
) Profitability is the kev factor guiding technological change.
() Economic factors and governmental policies strongly influence the ulu-
mate suceess of any innovation.
1)) Innovations carrving high rewards for big agrihusiness groups harm the
poor.
35, The primary purpose of the passage is to discuss the o
A1 means of assessing the extent of the world food shortage
By difficoltues of applving technological solutions to the problem of food
.\'horl;lg«*\’
U vovts ob i odueig oo new foon sechnology it o developmg coomrry

oot o e e o hnologn o o ations i the sres o foodd produe

OQuestions 3o ta 40 ave based op thy ollowing passage .
Lo oo ctorpeee o prodiced o techuology capabide of providing the

Sorcrnan consuner with the lorges ans o varied wmarkerplace o the woddd,

ot advancess howesery have come band-in-hand with ampersonai

mase tirketing of goods and services. Along with progress. oo, have come
some nestaaces of manpulative advertising practices ard s owreat nercase i

procucts vwwhose reliabiity o sadery and guatity are diffe ult 1o evaluate,

Today's consumers buy cugor . use and discard raose 1ynes of goods than
conld possibly have been bmagined even a few years ago. Yer 100 often con-
sumers have no idea of the materials that have gone into the manufacturer’s
finished product or their own motivation in selecting one product over another.

Easy credit and forceful techniques of nodern marketing persuade many
consumers to buy what they cannot afford. The conscquent overburdening of
family budgetrs is a problem for consumers at all economic levels. It is not un-
usual for families wo allocate 20 percent or more of their income 10 debt repay-
ments without understanding the effect this allocation has upon other chaoices.
Some families have such tight budgets that an illness. a period of unemploy-

ment. or some other crisis finds them without adequate reserves.



In addition to the growing complexity of the market. consumers are some-
times faced with unfair and deceptive practices. Although there are laws de-
signed 1o protect the consumers. there is not a sufficient number of law en-
forces to cover all the abuses of the marketplace.

An adult in today’s society should be knowledgeable in-the use of credit.
He should underst and what is involved in purchasing a house. and the many
pitfalls 10 be avoided when entering into financial agreements. He should know
enough about advertising and selling techniques 1o enable him to discern the
honest from the deceptive. He should be knowledgeable about consumer pro-
tection laws =0 that he can demand his rights. When he needs help. he should
know the private and public sources 1o which he can turn for assistance.

36. This passage is concerned mostly with

A) the free enterprise system in America

B) the difficulty of living on a fixed income

) innovative techniques in food processing

[D) the advances of advertising techniques
37. The author implies that _

A) products are more expensive in the 7. S, than anywhere else

B) credit cards are often used illegaily

() products very often do not perform as advertised

I3 more Americans like to buy what they cannot afford
38. Consumers often do not know

A) the brand names of products they buy regularly

B) why they purchase certain products

C) the current interest rates on savings accounts

D) where to buy cheaper things
39. The author points out that some families o
A) are unprepared for financial emnergencies
B) forget to claim interest charges on their income tax forms
() spend more money on food than they would like 1o
) purchase a house without knowing its true value

40. The author warns the reader to be cautious when
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